* POWER SUPPLY

CITIZEN model CDC-80/CDC-100 is a dual-powered (high power
solar + back-up battery) calculator operative under any lighting
conditions.

-Auto power-off function-

The calculator switches the power off automatically if there has
been no key entry for about 10 minutes.

-Battery change-

Remove the screw and the battery cover. Install a new battery with
the + symbol facing upward. After changing, use a pointed object to
press the RESET hole near the battery. Replace the battery cover

and secure the screw.

[+ KEY INDEX [ English

[Cg;c] : Power on / Clear entry / Clear key
[+/-] : £ Sign change key

[M-] : Memory minus key

[M+] : Memory plus key

[MRC] : Memory recall key / Memory clear key
[RATE] : Tax rate setting key

RECALL

[-TAx] : Price without tax key / To recall tax rate when pressing

[RATE] and [-TAX] keys

[+'srix] : Price with tax key / To store tax rate when pressing [RATE]

and [+TAX] keys

The Signs Of The Display Mean The Following :

MEMORY : Memory TAX : Amount of tax
—MINUS : Minus (or negative) —TAX : Price excluding tax
ERROR : Overflow-error +TAX : Price including tax
TAX% : Tax rate stored RATE : Tax rate setting

h

* OPERATION EXAMPLES

1.Calculation Examples
Before performing each calculation, press the [CE/C] key two times.

Example Key operation Display
2x3=6 2 [x] 2 [CE/C] 3[=] 6.
6+4+75=175 6[+]4[+] 75 175
3-6-4=-7 364 -7.
5x3+02=75 5[x]3[+] 0.2 [=] 75.
300 x 27% = 81 300 [x] 27 [%] 81.
% x 100% = 20% 11.2 [+] 56 [%] 20.
300 + (300 x 40%) = 420 300 [+] 40 [%] 420.
300 — (300 x 40%) = 180 300 [] 40 [%] 180.
5= 625 5 [x] [=] [=] [=] 625.
1/2=05 2[4 [=] 0.5
m =0.0625 2[X]3 [+ 10 [4] [=] 0.0625
2.Memory Calculation

(25x5)— (84 + 3) [MRC] [CE/C] 25 [x] 5 [M+] ~ MEMORY  125.
+(68+17) =38

84 [<] 3[M-] MEMORY 28,

68 [+] 17 [M+] MEMORY  85.

[MRC] MEMORY 182
(52-35)+(14-3x2)  [MRC][CE/C] 14 [M+] 3[x] 2
212 M1 52 135 ]

[MRC] [=] MEMORY 2.125
135x (12 + 14) = 3510 [MRC] [CE/C] 12 [+] 14 [M+]
(12+14)+5=52

135 [x] [MRC] [=] MEMORY 3'510.

[MRC] [+] 5 [=] MEMORY 5.2

3.Constant Calculation

2+3=5 2[+3[=] 5.
4+3=7 41=] 7.
3x4=12 3[x14[=] 12.
3x6=18 6 [=] 18.
4.Overflow Error Clear

1234567890 x 10000 1234567890 ERROR  1'234'567'890.
=1'234.567890 x 10 [x] 10000 [=] ERROR  1'234.567890
(CDC-100) [CE/C] [CE/C] 0.
5.Tax Calculation

100+TAX(3%) TAX%
=103 3 [RATE] [+TAX] 3.

+TAX
Tax sum =3 100 [+TAX] 103.
TAX

[+TAX] 3.
3 = Tax sum 103 = Tax inclusive value
206-TAX(3%) TAX%
=200 [CE/C] [RATE] [-TAX] 3.

—TAX
Tax sum =6 206 [-TAX] 200.
TAX

[-TAX] 6.

6 = Tax sum 206 = Tax exclusive value
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2x3=6 2 [x] 2 [CE/C] 3[=] 6.
6+4+75=175 6[+]4[+]7.5[=] 175
3-6-4=-7 3[-6[-]4[=] 7.
5x3+02=75 5[] 3[+]02[=] 75.
300 x 27% = 81 300 [x] 27 [%] 81.
% x 100% = 20% 11.2[+] 56 [%] 20.
300 + (300 x 40%) = 420 300 [+] 40 [%] 420.
300 — (300 x 40%) = 180 300 [-] 40 [%] 180.
5'=625 5 x] [=] [=] [=] 625.
1/2=05 2[4 [=] 0.5
a0 0.0625 2] 3[+] 10 [+] [=] 0.0625
5S04 Qa2
(25x5)— (84 +3) [MRC] [CE/C] 25 [x] 5 [M+]  MEMORY  125.
+(68+17)=38
84 [+]3[M-] MEMORY 28.
68 [+] 17 [M+] MEMORY 85.
[MRC] MEMORY 182.
(53 ;2355) +(14-3X2) [MRC][CE/C] 14 [M+] 3 [x] 2
o M- 52135 %]
[MRC] [=] MEMORY 2.125
135x (12 + 14) = 3510 [MRC] [CE/C] 12 [+] 14 [M+]
(12+14)+5=52 .
135 [x] [MRC] [] MEMORY 3'510.
IMRC] []5 [7] MEMORY 5.2
Sl Glua 3
2+3=5 2[+]3[=] 5.
4+3=7 4[] 7.
3x4=12 3x14[=] 12.
3x6=18 6=] A 18
2130 gdaal) Uad Cids 4
1234567890 x 10000 1234567890 ERROR  1234'567'890.
= 1'234.567890 x 10" [x] 10000 [=] ERROR  1'234.567890
(CDC-100) [CE/C] [CE/C] ; 0.
Ayl Glua 5
100+TAX(3%) TAX%
=103 3 [RATE] [+TAX] 3.
+TAX
Tax sum =3 100 [+TAX] 103.
TAX
[+TAX] 3.
103=ky ol Als Ladl) 3=y ol ¢ sane
206-TAX(3%) TAX%
=200 [CE/C] [RATE] [-TAX] 3.
—TAX
Tax sum = 6 206 [-TAX] 200.
TAX

[-TAX] 6.
206 =k G uindl) 6 he el g sene
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* QNEKTPOMUTAHUE

CITIZEN wmopens CDC-80/CDC-100 wmeeT ABOWHOE nNWUTaHWe
(conHyHble 3nemeHTbI+6aTapes) n cnocobeH paboTats npu niwGom
OCBeLLEeHUN.

-ABTOMaTHYECKOE OTKIIOYEHWNE MUTaHMS-

3T0T KanbKynsaTtop MMeeT (yHKLMIO aBTOMAaTUYECKOrO OTKITOYEHWS
nuTaHus,6rarofapsi  Yemy 3MeKTPONUTaHuWe  OTKIKOYaeTcsl, ecim B
TeseHre npuMepHo 10 MUHYT He NPOM3BOAMIOCH HUKaKMX Orepaumi Ha
Knasuwax.

-8ameHa 3nemMeHTOB NuUTaHus-

OTKpYTUTE BUHTBI U CHAMUTE KpbILWIKY OTCeka nutanus. BcrasTe
HoByto GaTapeiiky 3HakoM + kBepxy. CMeHUB GaTaperiky, HaxmuTe
kHonky RESET psiioM C OTCEKOM MUTaHMsi C MOMOLLbIO TOHKOTO
3a0CTpeHHOro npeameta. 3akpomnTe KpbILWKY OTCeKa NUTaHus U

3aKpyTUTE BUHTbI.
Pycckuii

* KNABULLA

[CEN/C] : Bkntoyerne nutanus / Cépoc umcna / Copoc

[M+] : KnaBuwa namsTtv nnioc

[M-] : KnaBuiwa namsitn MUHyC

[+ /-] : +MepemeHa 3Haka

[MRC] : KnaBuiwa n3seneyeHus us namsitn./Knaeuiua cbpoca namsitu.

[RATE] : KnaBuw BBoga ypoBHst Harnora
RECALL
[-TAX]: KnaBuw BBOAA UeHbI Ge3 Hanora / [ins BbI3oBa ypoBHS

Hanora HaxmuTe knasuwmu [RATE] n [-TAX]

ser
[+TAX]: KnaBuwu BBOAA LieHbI C Hanorom / [ins 3anucu ypoBHs
Hanora HaxxmuTe knasuwwm [RATE] n [+TAX]

BbicBeunBaeMbie CUMBONbI :

MEMORY : namsiTb

TAX : Cymma Hanora

—MINUS : MuHyc (vnu oTpulaTtenbHoe Y1cno)
—TAX : LieHa 6e3 Hanora

ERROR : Owwbka nepenonHeHus

+TAX : LieHa ¢ Hanorom

TAX% : 3anuncaHHbI ypoBeHb Hanora

RATE : BBog ypoBHSsi Hanora

NPUMEYAHUE

1.Mpumepbl pacuétoB

Mepen Ha4anoMm BbIYMCHIEHUI HaXMUTE Kknasuy [CE/C] 2 pasa.

_Mpumep Knasuiwm KpaH
2x3=6 2 [x] 2 [CE/C] 3[=]
6+4+75=175 6[+]4[+] 7.5 175
3-6-4=-7 3[H6[4[=] -7.
5x3+02=75 5[x]3[+]0.2[=] 75.
300 x 27% = 81 300 [x] 27 [%] 81.
% x 100% = 20% 11.2 [+] 56 [%] 20.
300 + (300 x 40%) = 420 300 [+] 40 [%] 420.
300 — (300 x 40%) = 180 300 [-] 40 [%] 180.
5= 625 5 [x] [=] [=] [=] 625.
1/2=05 2+ [=] 05
m =0.0625 2 [x]3[+] 10 [] [=] 0.0625
2.0nepauuH ¢ NamATbLI0
(25 x5)— (84 + 3) [MRC] [CE/C] 25 [x] 5 [M+]  MEMORY  125.
+(68+17) =38

84 [+] 3[M-] MEMORY 28.

68 [+] 17 [M+] MEMORY ~ 85.

[MRC] MEMORY 182
(52-35)+(14-3x2) [MRC][CE/C] 14 [M+] 3[x] 2
212 M1 52 135 ]

[MRC] [=] MEMORY 2.125
135x (12 + 14) = 3510 [MRC] [CE/C] 12 [+] 14 [M+]
(12+14)+5=52

135 [x] [MRC] [=] MEMORY 3'510.

[MRC] [+] 5 [=] MEMORY 5.2

3.BbluncneHns ¢ KOHCTaHTOU

2+3=5 2[+]3[=] 5.
4+3=7 4[] 7.
3x4=12 3[x14[=] 12.
3x6=18 6=] 18.
4.Ucny 1 c6poc npu nepenc
1234567890 x 10000 1234567890 ERROR  1'234'567'890.

=1'234.567890 x 10"

[x] 10000 [=] ERROR  1'234.567890
(CDC-100) [CE/C] [CE/C] 0.
5.Bbluncnerve Hanoros
100+TAX(3%) TAX%
=103 3 [RATE] [+TAX] 3.
+TAX
Tax sum =3 100 [+TAX] 103.
TAX
[+TAX] 3.
3 = cymma Hanora 103 = T cymma ¢ Hanorom
206-TAX(3%) TAX%
=200 [CE/C] [RATE] [-TAX] 3.
—TAX
Tax sum =6 206 [-TAX] 200.
TAX
[-TAX] 6.

6 = cymma Hanora
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* FONT DE ALIMENTACAO _

CITIZEN modelo CDC-80/CDC-100 tem dupla fonte de alimentacéo
de energia (energia solar e bateria de reserva), permitindo operar

sob qualquer condicéo de iluminagéo.

-Fung&o Auto power-off (desligamento automé)-

A calculadora desliga automaticamente, caso nenhum a tecla
utilizada por aproximadamente 10 minutos.

-Troca de bateria-

seja

Remova o parafuso e a tampa da bateria. Instale uma bateria nova
com o simbolo + voltado para cima. Depois do carregamento, use
um objeto pontudo para pressionar o furo do RESET (REAJUSTE)

parafuso.

préximo da bateria. Recoloque a tampa da bateria e aperte o

* [NDICE DE TECLAS -

[cEjc] : Tecla para Ligar / Tecla para Limpar Entrada / Limpar
[M+] : Tecla de mais da memoria

[M-] : Tecla de menos da memoria

[+ /-] : Tecla para mudar Sinal +

[RATE] : Tecla para Ajuste do indice da Taxa

[MRC] : Tecla da rechamada da meméria / Tecla para limpar a meméria

RECALL
[-TAX] : Preco sem a Tecla de Taxa / Para recuperar o indice da

taxa quando pressionadas as teclas [RATE] e [-TAX]
ser
[+TAX] : Preco com a Tecla de Taxa / Para armazenar o indice da

taxa quando pressionadas as teclas [RATE] e [+TAX]

Simbolos Visualizados :
MEMORY : Memoéria TAX : Quantia de taxa

—MINUS : Menos (ou negativo) —TAX : Prego excluindo a taxa
ERROR : Erro por transbordamento +TAX : Preco incluindo a taxa

TAX% : indice da taxa armazenada
RATE : Ajuste do indice da taxa

* EXEMPLOS DE OPERACAO

1.Exemplo de calculos
Antes de executar cada célculo, pressione a tecla [CE/C] 2 vezes.

Exemplo Operagédo com a tecla Visualizacéo
2x3=6 2 [x] 2 [CE/C] 3[=] 6.
6+4+75=175 6[+]4 [+ 7.5[=] 17.5
3-6-4=-7 3[H6[-4[] -7.
5x3+02=75 5[x]3[:] 0.2 [7] 75.
300 X 27% = 81 300 [X] 27 [%] 81.
% X 100% = 20% 11.2 [+] 56 [%] 20.
300 + (300 x 40%) = 420 300 [+] 40 [%] 420.
300 — (300 x 40%) = 180 300 [-] 40 [%] 180.
5%=625 5 X [=] [=] =] 625.
1/2=05 2[4 E 05
e 0.0625 23+ 104 =] 0.0625
2.Meméria

(25x5)—(84+3) [MRC] [CE/C] 25 [x] 5 [M+]  MEMORY  125.
*(68+17)=38 84[+]3[M-] MEMORY 28.

68 [+] 17 [M+] MEMORY  85.

[MRC] MEMORY ~ 182.
(52-35) + (14 -3x 2) = [MRC] [CE/C] 14 [M+] 3[X] 2
2% M-]52 (35 [+]

[MRC] [=] MEMORY 2.125
135x (12 +14) =3510  [MRC] [CE/C] 12 [+] 14 [M+]
(12+14=5=52 135 [x] [MRC] [=] MEMORY 3'510.

[MRC] [:] 5 [7] MEMORY 5.2
3.Constante
2+3=5 23] 5.
4+3=7 4[] 7.
3x4=12 3[x]4[3] 12.
3x6=18 6[=] 18.
4.Erro por excesso
1234567890 x 10000 1234567890 ERROR  1'234'567'890.
=1'234.567890 x 10°°  [x] 10000 [=] ERROR  1'234.567890
(CDC-100) [CE/C] [CE/C] 0.
5.Célculo da Taxa
100+TAX(3%) TAX%
=103 3 [RATE] [+TAX] 3.

+TAX
Tax sum =3 100 [+TAX] 103.
TAX

[+TAX] 3.
3 = Soma da Taxa 103 = Valor com taxa incluida
206-TAX(3%) TAX%
=200 [CE/C] [RATE] [-TAX] 3.

—TAX
Tax sum = 6 100 [-TAX] 200.
TAX

[-TAX] 6.

6 = Soma da Taxa 206 = Valor excluido de Taxa
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Kalkulator CITIZEN , model CDC-80/CDC-100 jet zasilany
podwadjnie (bateria stoneczna+bateria zwykta) Kalkulator pracuje w
kazdych warunkach o$wietlenia.

-Funkcja automatycznego wylaczenia-
Kalkulator wylacza sie automatycznie w przypadku jesli zaden z
-Wymiana baterii-
Odkreci¢ $rubke i zdjaé pokrywe. Wiozy¢ nowa baterie symbolem +
przycisk RESET przy pomocy czego$ cienkiego, np. otdwka.
Zamkna¢ pokrywe i zakreci¢ Srubke.
[Cé’“,c] : Zasilanie / Kasowanie liczby / Kasowanie
[+ /-] : + Zmiana znaku
[M-] : Przycisk wprowadzenia do  pamigci ze znakiem minus
[MRC] : Klawisz MR (Klawisz wywolania z pamigci) /
[RATE] : Klawisz wprowadzenia wysokosci podatku
RECALL
nacisnij klawisze [RATE] i [-TAX].
ser
[+TAX] : Klawisz ceny z podatkiem / Aby zapisa¢ wysoko$¢ podatku,

przyciskéw nie zostanie naci$nlety w ciagu 10 minut.
do gory. Po wymianie baterii prosze nacisna¢ znajdujacy sie obok
* OPIS KLAWISZY
[M+] : Przycisk wprowadzenia do pamieci ze znakiem plus
Klawisz MC (Klawisz kasowania pamieci)
[-TAX] : Klawisz ceny bez podatku / Aby wywota¢ wysoko$¢ podatku,
naciénij klawisze [RATE] i [+TAX].

Wyswietlane symbole:

MEMORY : Pamig¢ TAX : Suma podatku
—MINUS : Minus (lub liczba ujemna) —TAX : Cena bez podatku
ERROR : Btad przepetnienia +TAX : Cena z podatkiem
TAX% : Zapisana do pamigci wysoko$¢ podatku

RATE : Wprowadzenie wysokosci podatku

[+ PRZYKLADY DZIALAN | roisn |

1. Przykladowe obliczenia
Przed rozpoczeciem obliczen nalezy nacisnaé¢ klawisz [CE/C] 2 razy.

Przyktad Klawisze Ekran
2x3=6 2 [x] 2 [CE/C] 3[=] 6.
6+4+75=175 6[+]4[+]75[=] 17.5
3-6-4=-7 3[H6[H4[ -7.
5x3+02=75 5[x]3[]0.2[=] 75.
300 x 27% = 81 300 [x] 27 [%] 81.
% x 100% = 20% 11.2 [+] 56 [%] 20.
300 + (300 x 40%) = 420 300 [+] 40 [%] 420.
300 — (300 x 40%) = 180 300 [-] 40 [%] 180.
5'=625 625.
1/2=05 05
m =0.0625 2[X]13[+] 10 [+] 5] 0.0625
2.0bliczenia z wykorzy pamie

(25x5)—(84 + 3) [MRC] [CE/C] 25 [x] 5 [M+]  MEMORY  125.
+(68+17)=38

84 [+] 3 [M-] MEMORY  28.

68 [+] 17 [M+] MEMORY  85.

[MRC] MEMORY 182
(52-35)+(14-3x2)  [MRC][CE/C] 14 [M+] 3 [x] 2
2% M- 52 (-] 35 [+]

[MRC] [=] MEMORY 2.125
135x (12 + 14) = 3510 [MRC] [CE/C] 12 [+] 14 [M+]
(12+14)+5=52

135 [x] [MRC] [] MEMORY 3'510.

[MRC] [+] 5 [7] MEMORY 5.2
3.Stala
2+3=5 2[+3[] 5.
4+3=7 4[] 7.
3x4=12 3[x14[=] 12,
3x6=18 6[=] 18.

4. Przepetnienie pamigci

1234567890 x 10000 1234567890 ERROR  1'234'567'890.
=1'234.567890 x 10" [x] 10000 [=] ERROR  1'234.567890
(CDC-100) [CE/C] [CE/C] 0.
5.0bliczenie podatku
100+TAX(3%) TAX%
=103 3 [RATE] [+TAX] 3.
+TAX
Tax sum =3 100 [+TAX] 103.
TAX
[+TAX] 3.
3 = Suma podatku 103 = Inkluzywna wysokos$¢ podatku
206-TAX(3%) TAX%
=200 [CE/C] [RATE] [-TAX] 3.
—TAX
Tax sum = 6 206 [-TAX] 200.
TAX
[-TAX] 6.

6 = Suma podatku
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* Alimentzzione Elettrica Italiano

Il calcolatore CITIZEN model CDC-80/CDC-100 ha due risorse di
potenza : energia solare e batteria di riserva e puo funzionare sotto
qualsiasi luce.

-Spegnimento automatico-

La calcolatrice si spegne automaticamente se non immettere
nessun dato in circa 10 minuti.

-Battery change-

Rimuovere la vite ed il coperchio della batteria. Installare una nuova
batteria con il simbolo + rivolto verso l'alto. Dopo aver sostituito la
batteria, usare un oggetto appuntito per premere il foro RESET
(RIPRISTINA) vicino alla batteria. Richiudere il coperchio della
batteria e fissare la vite.

* Indice Tasti

[CS\;C] : Acceso / Cancella immissione / Tasto cancella
[M+] : Memoria addizione

[M-] : Memoria sottrazione

[+ /-] : £Tasto cambio segno

[MRC] : Margine. / Cancellazione

[RATE] : Tasto di impostazione dell’Aliquota d'imposta

RECALL

[-Tax] : Prezzo senza Tasto d'imposta / Per richiamare I'aliquota
d'imposta quando si premono i tasti [RATE] e [-TAX]

[éjx] : Prezzo con Tasto d'imposta / Per memorizzare I'aliquota
d'imposta quando si premono i tasti [RATE] e [+TAX]

Simboli di visualizzazione :

MEMORY : Memoria TAX : Somma dell'imposta
—MINUS : Meno (o negativo) —TAX : Prezzo esclusa 'imposta
ERROR : Errore di traboccamento aritmetico

+TAX : Prezzo inclusa I'imposta
TAX% : Aliquota d'imposta memorizzata
RATE : Impostazione dell'aliquota d'imposta

Esampio di Operazione

1.Operazione del calcolo normale
Prima di effettuare ciascun calcolo, premere il tasto [CE/C] 2 volte.

Esempio Operazione con il tasto Visualizzazione
2x3=6 2 [x] 2 [CE/C] 3[=] 6.
6+4+75=175 6[+]4[+ 7.5 17.5
3-6-4=-7 3[H6[H4[=] -7.
5x3+02=75 5[x]3[] 0.2 =] 75.
300 x 27% = 81 300 [x] 27 [%) 81.
% X 100% = 20% 11.2 [+] 56 [%] 20.
300 + (300 x 40%) = 420 300 [+] 40 [%] 420.
300 — (300 x 40%) = 180 300 [-] 40 [%] 180.
5'=625 5[] [=1 =] [=] 625.
1/2=05 2[5 [F 05
(leuo) 200625 2[q3[10[ [ 00625
2.0perazione del calcolo memoria

(25x5)—(84+3) [MRC] [CE/C] 25 [x] 5 [M+]  MEMORY  125.
*(68+17)=38 84 [+] 3 [M-] MEMORY  28.

68 [+] 17 [M+] MEMORY  85.

[MRC] MEMORY ~ 182.
(52 -35) + (14 -3x 2) = [MRC] [CE/C] 14 [M+] 3[x] 2
2128 (M52 35 [

[MRC] [=] MEMORY 2.125
135x (12+14)=3510  [MRC] [CE/C] 12 [+] 14 [M+]
(12+14=5=52 135 [x] [MRC] [5] MEMORY 3'510.

[MRC] [+] 5 [7] MEMORY 5.2

3.0perzaione del calcolo costante
2+3=5 2[435 5.
4+3=7 41=] 7.
3x4=12 3[x]4[=) 12.
3x6=18 6[=] 18.
4.Cancellazione della capacita di operazione superata
1234567890 x 10000 1234567890 ERROR  1'234'567'890.
=1'234.567890 x 10°°  [x] 10000 [=] ERROR  1'234.567890
(CDC-100) [CE/C] [CE/C] 0.
5.Calcolo della tassazione
100+TAX(3%) TAX%
=103 3 [RATE] [+TAX] 3.
+TAX
Tax sum = 3 100 [+TAX] 103.
TAX

[+TAX] 3.
3 = Import della tassa 103 = Valore con tassa
206-TAX(3%) TAX%
=200 [CEIC] [RATE] [-TAX] 3.

-TAX
Tax sum = 6 206 [-TAX] 200.
TAX
[-TAX] 6.

6 = Import della tassa 206 = Valore senza tassa
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* Sumber tenaga listerlk Bahasa Indonesia

Calculator CITIZEN model CDC-80/CDC-100 mendapat listerik dari
dua macam baterai : tenaga matahari dan tenaga simpanan,
sehingga calculator ini bisa bekerja dibawah segala macam sinar.
-Sumber tenaga bisa bekerja dan tutup secara otomatis-

Jikalau dalam kira2 10 menit calculator tidak bekerja maka sumber
tenaga akan berhenti bekerja otomatis.

-Cara mengganti baterai-

Lepaskan sekrup dan tutup baterai. Pasang baterai baru dengan
tanda + menghadap ke atas. Setelah diganti, gunakan obyek
runcing untuk menekan lubang RESET dekat baterai. Pasangkan
kembali tutup baterai dan kunci dengan sekrup.

* Daftar fungsi tuts

[CEN,C] : Tombol Power On / Tombol Power On / Hapus Semua
[M+] : Memory penambahan

[M-] : Memory pengurangan

[+ /-] : ¥Tombol pengubah tanda

[MRC] : Memory. / Penghapusan

[RATE] : Tombol Pengatur Tarif Pajak

[iETC/:;L(]:Harga tanpa Tombol Pajak / Untuk mengembalikan Tarif
Pajak pada waktu menekan tombol [RATE] dan [-TAX]
set
[+TEA><]:Harga dengan Tombol Pajak / Untuk menyimpan Tarif Pajak
pada waktu menekan tombol [RATE] dan [+TAX]

Simbol — simbol Layar :

MEMORY : Memori TAX : Jumlah Pajak

— MINUS: Minus (atau negatif)y —TAX : Harga tanpa Pajak
ERROR : Kesalahan Overflow +TAX : Harga termasuk Pajak
TAX% : Tarif Pajak yang tersimpan
RATE : Pengatur Tarif Pajak

* Con cara pakai

1.Cara kalkulasi biasa
Sebelum melakukan tiap perhitungan, tekan tombol [CE/C]2 kali.

Contoh Operasi Tombol Tampilan di_Layar
2x3=6 2 [x] 2 [CE/C] 3[=] 6.
6+4+75=175 6[+4[+ 7.5 17.5
3-6-4=-7 3[H6[H4[=] -7.
5x3+02=75 5[x]3[] 0.2 [=] 75.
300 X 27% = 81 300 [x] 27 [%)] 81.
% X 100% = 20% 11.2 [+] 56 [%] 20.
300 + (300 x 40%) = 420 300 [+] 40 [%] 420.
300 — (300 x 40%) = 180 300 [-] 40 [%)] 180.
5'= 625 5 X1 [=] [ =] 625.
1/2=05 2[5 [=] 05
@310 0.0625 2[x]3[+] 10 [<] [] 0.0625
2.Cara melakukan kalkulasi dengan memory

(25x5) - (84 +3) [MRC] [CE/C] 25 [x] 5 [M+] ~ MEmORY  125.
*(68+17)=38 84[+]3[M-] MEMORY 28

68 [+] 17 [M+] MEMORY 85.

[MRC] MEMORY ~ 182.
(52-35) + (14 -3x2)= [MRC] [CE/C] 14 [M+] 3[x] 2
2128 (M52 35 [

[MRC] [=] MEMORY 2.125
135x (12 +14) = 3510  [MRC] [CE/C] 12 [+] 14 [M+]
(12+14=5=52 135 [x] [MRC] [=] MEMORY 3'510.

[MRC] [+] 5 [7] MEMORY 5.2
3.Cara kalkulasi dengan bilangan konstan
2+3=5 2[4 3[=] 5,
4+3=7 e 7.
3x4=12 3[x]4[=] 12.
3x6=18 6[=] 18.
4.Pengnapusan kalkulasi yang melewati
1234567890 x 10000 1234567890 ERROR  1'234'567'890.
=1'234.567890 x 10°°  [x] 10000 [=] ERROR  1'234.567890

[CE/C] [CE/C) 0.

5.Perhitungan Pajak
100+TAX(3%) TAX%
=103 3 [RATE] [+TAX] 3.
+TAX
Tax sum =3 100 [+TAX] 103.
TAX

[+TAX] 3.
3 = Jumlah pajak 103 = Nilai termasuk pajak
206-TAX(3%) TAX%
=200 [CEIC] [RATE] [-TAX] 3.

—TAX
Tax sum = 6 206 [-TAX] 200.
TAX

[-TAX] 6.

6 = Jumlah pajak 206 = Nilai di luar pajak
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To CITIZEN CDC-80/CDC-100 eival pia apiBgopnxavr) ge SITTAR
Tpoodoaia (NAiakr evépyeia UPNARG 10XU0G + EPEDPIKN PTTaTaPIx),
N oTToia AEITOUPYET KATW OTTO OTIOIETDATIOTE OUVORKEG PWTICHOU.
-A\&IToupyia autéuaTou KAEIGTUATOG-

H apiBpopnxavr) kAeivel autépata edv dev €xel UTTAPSEl Kapia
TANKTPOASGYNaN yia 10 TTePITTOU AETTTA.

-ANayr pmratapiag-

AgaipéoTe TN Bida Kal To KAAUPPA TNG PTTATAPIOG.

EykataoTioTe pia véa prratapia ue 1o oUPBoAO + va KoITd TTpog Ta
emMavw. Metd amd v aldayrd, XPNOIPOTIOINOTE £€va aIXuNPEO
QvTIKEIYEVO yia va TiEoeTe TNV oty RESET kovTd oTnv prratapia.
EmavatomoBetioTe T0 KAAUpPa TNG pTraTapiag Kai o@igte T Bida.

E EYPETHPIO MAHKTPQN

[céNlc] : MAAKTpO avoiyuatog / diaypa®ig TTANKTpoAdynong /
Siaypagnig

[+/-] : MAAKTPO aAAayg TTpOCTiHOU +

[M=] : MAAKTPO PvAPNG TTANV

[M+] : MAAKTPO pvAung ouv

[MRC] : MArikTpo avakAnong pvAung / MARKTpo diaypa®ig HvAapng
[BECAILE] : Tax rate setting key

[-TAXx] : MAAKTPO TIUAG XWPiG PEpo. AvakAnan ouvTeAeoT @épou

otav méfovtal Ta TAfKTpa [RATE] kai [-TAX]

Exnvika

[;SrE/;x] : MAAKTPO TIUAG PE POPO. ATTOBKEUTT CUVTEAEDTH 9OPOU
otav médovtal Ta TARKTPa [RATE] kai [+TAX]

O1 evdeigeig TNG 006vNg onpaivouv Ta €8¢ :

MEMORY : pvriun TAX : Moad eépou

—MINUS : MAnv (j apvnTikd)  —TAX : Tipr| xwpig épo

ERROR : ZpdApa utrepxeiliong +TAX : TiuA ye popo
APAAEIFMATA AEI

TAX% :
E)lmvika
1.Napadeiypara uTToAOYICHWY

RATE :
MpIv TTPAYHATOTIOINCETE KABE UTTOAOYIOUO, TTATAOTE 2 POPEG TO TTARKTPO

YPIIAZ

[CE/C].
MNapdderypa AeiToupyia TTARKTPOU 08dvn
2x3=6 2 [x] 2 [CE/C] 3[=] 6.
6+4+75=175 6[+]4[+]75[=] 17.5
3-6-4=-7 3[H6[H4[E -7.
5x3+02=75 5[x13[+]0.2[] 75.
300 x 27% = 81 300 [x] 27 [%] 81.
% x 100% = 20% 11.2 [+] 56 [%] 20.
300 + (300 x 40%) = 420 300 [+] 40 [%] 420.
300 — (300 x 40%) = 180 300 [-] 40 [%] 180.
5'=625 51 [=] == 625.
1/2=05 2= 05
m =0.0625 2[X]13[+] 10 [+] =] 0.0625
2.YTroAoyiopuég uviung
(25x5)— (84 + 3) [MRC] [CE/C] 25 [x] 5 [M+]  MEMORY  125.
+(68+17) =38
84 [+] 3 [M-] MEMORY  og
68 [+] 17 [M+] MEMORY  85.
[MRC] MEMORY ~ 182.
(62-35)+(14-3x2)  [MRC][CE/C] 14 [M+] 3 [X] 2
=212 [M-152[-135 [+
[MRC] [=] MEMORY 2.125
135x(12+14)=3510  [MRC] [CE/C] 12 [+] 14 [M+]
(12+14)+5=52 §
135 [x] [MRC] [=] MEMORY 3'510.
[MRC] [#] 5 [7] MEMORY 52
3.YmoAoyiopdg oTabepdg
2+3=5 2[+3[7] 5.
4+3=7 4= 7.
3x4=12 3[x]14[=] 12.
3x6=18 6[=] 18.

4.Alaypagr) o@aAparog utrepxeiliong

1234567890 x 10000 1234567890 ERROR  1'234'567'890.
=1'234.567890 x 10°  [x] 10000 [=] ERROR  1'234.567890
(CDC-100) [CE/C] [CE/C] 0.
5.Ymroloyiopég @épou
100+TAX(3%) TAX%
=103 3 [RATE] [+TAX] 3.
+TAX
Tax sum =3 100 [+TAX] 103.
TAX
[+TAX] 3.
3 =Z0voho @épou 103 =Agia cupTrepIAauBAVOUEVOU TOU POPOU
206-TAX(3%) TAX%
=200 [CE/C] [RATE] [-TAX] 3.
—TAX
Tax sum =6 206 [-TAX] 200.
TAX
[-TAX] 6.

6 =Z0volo pdpou 200 =Agia aupTrepIAapBavopévou Tou opou
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* KRAFTVERSORGUNG

CITIZEN model CDC-80/CDC-100 wird durch 2 voneinander
unabhéangigen Energiequellen versorgt (Entweder durch eine sehr
starke solar-zelle oder durch eine batterie). Der rechner arbeitet
selbst unter schlechtesten lichtbedingungen.

-Automatische Ausschaltung-

Der rechner schaltet sich automatisch ab, wenn diesen 10 minuten
nicht mehr benutzen.

-Batterlewechsel-

Installieren Sie eine neue Batterie mit nach oben gerichteter +
Markierung. Benutzen Sie anschlieRend einen spitzen Gegenstand,
um damit in die RESET Offnung nahe bei der Batterie zu driicken.
Bringen Sie die Batterieabdeckung wieder an, und ziehen Sie die
Schrauben an.

* ERKLARUNGEN VON SCHLUSSEL -

[c)c] : An/ Eingabe I6schen / Léschen Taste

[M+] : Speicher Plus taste

[M-] : Speicher Minus taste

[+ /-] : +Vorzeicheneingabetaste

[MRC] : Speicher Abruf taste / Speicher Léschen taste
[RATE] : Steuerraten-Einstellungstaste

RECALL
[-TAX] : Preis ohne Steuern Taste / Abrufen der Steuerrate, wenn

die Tasten [RATE] und [-TAX] gedriickt werden.

[J}E/Ix] : Preis mit Steuern Taste / Speichern der Steuerrate, wenn
die Tasten [RATE] und [+TAX] gedriickt werden.

Anzeigesymbole :

MEMORY : Speicher TAX : Steuerbetrag
—MINUS : Minus(oder negative) —TAX : Preis ohne Steuern
ERROR : Uberflussfehler. +TAX : Preis mit Steuern

TAX% : Steuerrate gespeichert RATE : Steuerrate-Einstellung
* DAS BEISPIEL FUR OPERATIONEN

1.Berechnungsbeispiele
Driicken Sie vor dem Ausfiihren einer Berechnung jeweils die [CE/C] Taste 2 mal.

_Beispiel Tastenkombination Anzeige
2x3=6 2 [x] 2 [CE/C] 3[=] 6.
6+4+75=175 6[+4[+ 7.5 17.5
3-6-4=-7 3645 -7.
5x3+02=75 5[x]3[] 0.2 ] 75.
300 X 27% = 81 300 [x] 27 [%)] 81.
% X 100% = 20% 11.2 [+] 56 [%] 20.
300 + (300 x 40%) = 420 300 [+] 40 [%] 420.
300 — (300 x 40%) = 180 300 [-] 40 [%] 180.
5'=625 5 [x] [=] [=] [5] 625.
1/2=05 2= 05
(leuo) 200625 203104 (=] 00625
2.Speicher

(25x5)—(84+3) [MRC] [CE/C] 25 [x] 5 [M+]  MEMORY  125.
* (@8I =38 84[+]3[M-] MEMORY ~ 28.

68 [+] 17 [M+] MEMORY  85.

[MRC] MEMORY ~ 182.
(52-35)+(14-3x2) [MRC][CE/C] 14 [M+] 3[] 2
n212 M52 35 1]

[MRC] [=] MEMORY 2.125
135x (12+14)=3510  [MRC] [CE/C] 12 [+] 14 [M+]
(12+14=5=52 135 [x] [MRC] [=] MEMORY 3'510.

[MRC] [:] 5 [7] MEMORY 5.2

3.Konstant

2+3=5 2[4 3[] 5.

4+3=7 4[] 7.

3x4=12 3[x]4[=) 12.

3x6=18 6[=] 18.

4.Korrektur und Gberlauf-fehleer

1234567890 x 10000 1234567890 ERROR  1'234'567'890

=1'234.567890 x 10°°  [x] 10000 [=] ERROR  1'234.567890

(CDC-100) [CE/C] [CE/C] 0.

5.Steuerberechnung

100+TAX(3%) TAX%

=103 3 [RATE] [+TAX] 3.
+TAX

Tax sum =3 100 [+TAX] 103.

TAX

[+TAX] 3.
3 = Steuersumme 103 = Wert mit steuersumme
206-TAX(3%) TAX%
=200 [CEIC] [RATE] [-TAX] 3.

—TAX
Tax sum = 6 206 [-TAX] 200.
TAX

[-TAX] 6.

6 = Steuersumme 206 = Wert ohne steuersumme
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* ALIMENTATION

CITIZEN modéle CDC-80/CDC-100 a double alimentation (énergie
solaire huate+pile de soutien d'alimentation) qui peut opérer sous
n'importe conditions de lumiére.

-Arret d’alimentation automatique -

L'alimentation de cette calculatrice se coupe automatiquement si
laissée allumée et non utilisée pendant environ 10 minutes.
-Remplacement de pile-

Enlevez la vis et le couvercle de la batterie. Installez une nouvelle
batterie avec le symbole +, face vers le haut. Apres avoir fait le
changement, utilisez un objet pointu pour serrer le trou du bouton
de REMISE A ZERO pres de la batterie. Remettez le couvercle de
la batterie et fixez la vis.

* SIGNIFICATION DES TOUCHES

[ce/c] : Bouton de Mise en marche / Touche d’annulation de
I'Entrée / d’annulation

[M+] : Touche de mémoire plus

[M-] : Touche de mémoire moins

[+ /-] : £ Touche de changement de Signe

[MRC] : Rapeler la mémoire / Effacer la mémoire

[RATE] : Touche de Réglage du Taux de la Taxe

RECALL

[-Tax] : Touche de Prix sans la Taxe / Rappeler le taux de la taxe en
appuyant sur les touches [RATE] (TAUX) et [-TAX] (TAXE)

[éjx] : Touche de Prix avec la Taxe / Sauvegarder le taux de la
taxe en appuyant sur [RATE] (TAUX) et [+TAX] (TAXE)

Affichage des Symboles :

MEMORY : Mémoire TAX (TAXE) : Montant de la taxe
—MINUS : Moins (ou négatif)y  —TAX (TAXE) : Prix excluant la taxe
ERROR : Erreur - Débordement+TAX (TAXE) : Prix incluant la taxe
TAX% : Taux de la taxe stockée

RATE : Réglage du taux de la taxe

* EXEMPLES D'OPERATIONS

1.Exemples de calculs
Avant d'effectuer chaque calcul, pressez la touche [CE/C] 2 fois.

Exemple Touche d’Opération Affichage
2x3=6 2 [x] 2 [CE/C] 3[=] 6.
6+4+75=175 6[+4[+ 7.5 17.5
3-6-4=-7 3[-6[H4[=] -7.
5x3+02=75 5[x]3[] 0.2 [=] 75.
300 X 27% = 81 300 [x] 27 [%)] 81.
% X 100% = 20% 11.2 [+] 56 [%] 20.
300 + (300 x 40%) = 420 300 [+] 40 [%] 420.
300 — (300 x 40%) = 180 300 [-] 40 [%)] 180.
5'=625 5[x] [=] [=] [5] 625.
1/2=05 2[5 [=] 0.5
@310 0.0625 2 [x]3[+] 10 [+] [7] 0.0625
2.Calcul avec mémoire

(25x5)—(84+3) [MRC] [CE/C] 25 [x] 5 [M+]  MEMORY  125.
*(68+17)=38 84 [+] 3 [M-] MEMORY ~ 28.

68 [+] 17 [M+] MEMORY  85.

[MRC] MEMORY 182
(52 -35) + (14 -3x 2) = [MRC] [CE/C] 14 [M+] 3[x] 2
2128 (M52 35 [

[MRC] [=] MEMORY 2.125
135x (12+14)=3510  [MRC] [CE/C] 12 [+] 14 [M+]
(12+14=5=52 135 [x] [MRC] [5] MEMORY 3'510.

[MRC] [+] 5 [7] MEMORY 5.2
3.Constant Calcul
2+3=5 2[+3[=] 5,
4+3=7 4[] 7.
3x4=12 3[x]4[=) 12.
3x6=18 6[=] 18.

4.Correction et dépassement-erreur

1234567890 x 10000 1234567890 ERROR 1'234'567'890.

=1'234.567890 x 10°°  [x] 10000 [=] ERROR  1'234.567890

(CDC-100) [CE/C] [CE/C] 0.

5.Calcul de I'imp6t

100+TAX(3%) TAX%

=103 3 [RATE] [+TAX] 3.

+TAX
Tax sum = 3 100 [+TAX] 103.
TAX

[+TAX] 3.

3= Le montant de la taxe 103 = Valeur avec avec taxe

206-TAX(3%) TAX%
=200 [CE/C] [RATE] [-TAX] 3.
—TAX
Tax sum = 6 206 [-TAX] 200.
TAX
[=TAX] 6.
6 = Le montant de la taxe 200 = Valeur hors taxe
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* Stroomvoorziening Nederlands

De CITIZEN CDC-80/CDC-100 calculator krijgt van twee soorten
batterijen haar energie : zonne-energie en reserve energie.Zij kan
onder alle soorten licht werken.

-Automatische verbreking van de stroomvoorziening-

Als de calculator gedurende 10 minuten niet gebruikt wordt, wordt
de Stroomvoorziening automatisch verbroken.

-Het verwisselen van de batterijen-

Verwijder de schroef en het batterijdeksel. Plaats een nieuwe
batterij met het + symbool naar de bovenkant. Na het veranderen
van de batterij, gebruikt u een puntig voorwerp om het
RESET-gaatje, dat zich naast de batterij bevindt, in te drukken.
Plaats het batterijdeksel terug en maak de schroef vast.

* Lijst van druktoetsen Nederlands

[CEN/C] : Inschakelen / Invoer wissen / Wissen

[M+] : Geheugen optellen

[M-] : Geheugen aftrekken

[MRC] : Geheugen / Schrappen

[ : + Toets voor het veranderen van teken

[RATE] : Toets voor het instellen van het belastingstarief

RECALL

[-TAX] : Toets voor de prijs zonder belasting / om het
belastingstarief op te vragen wanneer u op de toetsen
[RATE] en [-TAX] drukt

T

[+'T‘EAX] : Toets voor de prijs met belasting / om het belastingstarief

op te slaan wanneer u op de toetsen [RATE] en [+TAX]

drukt
Symbolen op het beeldscherm :
MEMORY : Geheugen TAX : Bedrag van belasting
—MINUS : Min (of negatief) —TAX : Prijs zonder belasting
ERROR : Overflow fout +TAX : Prijs met belasting

TAX% : Belastingstarief opslaan
ATE : Belastingstarief instellen

Voorbeelden van bedlening bij gebruik- Nederlands

1.Stappen van gewone calculaties

Voorbeeld Ingedrukte toetsen Weergave op het scherm
2x3=6 2 [x] 2 [CE/C] 3[=] 6.
6+4+75=175 6[+ 4+ 75[] 17.5
3-6-4=-7 3[-16[-]4[=] -7.
5x3+02=75 5[x]3[+]0.2[=] 75.
300 x 27% = 81 300 [x] 27 [%] 81.
% x100%=20% 1.2 [+] 56 [%)] 20.
300 + (300 x 40%) = 420 300 [+] 40 [%] 420.
300 — (300 x 40%) = 180 300 [-] 40 [%] 180.
5'=625 5 [x] [=] [=] [F] 625.
1/2=05 2[+][=] 0.5
m =0.0625 2[x] 3 [+] 10 [+] [=] 0.0625
2.Stappen bij calculaties met gebruik van geheugen

(25 x 5) - (84 + 3) [MRC] [CE/C] 25 [x] 5 [M+] MEMORY  125.
+(68+17)=38

84[+]3[M-] MEMORY ~ 28.

68 [+] 17 [M+] MEMORY  85.

[MRC] MEMORY ~ 182.
(52-35)+(14-3x2)  [MRC][CE/C] 14 [M+] 3 [x] 2
=212 M52 35 1]

[MRC] [=] MEMORY 2.125
135x (12+14)=3510  [MRC] [CE/C] 12 [+] 14 [M+]
(12+14)+5=52 .

135 [x] [MRC] [7] MEMORY 3'510.

[MRC] [+] 5 [=] MEMORY 5.2
3.Calculatiemethoden met een constante
2+3=5 2[+3[=] 5.
4+3=7 4[] 7.
3x4=12 3[x]4[=] 12
3x6=18 6[=] 18.

4.Het scnrappen van ingetoetste getilen die de
calculatiecapactieit overschrijden

1234567890 x 10000 1234567890 ERROR  1'234'567'890.
= 1'234.567890 x 10" [x] 10000 [=] ERROR  1'234.567890
(CDC-100) [CE/C] [CE/C] 0.
5.Berekening van belastingen
100+TAX(3%) TAX%
=103 3 [RATE] [+TAX] 3.
+TAX
Tax sum =3 100 [+TAX] 103.
TAX
[+TAX] 3.
3 = Bedrag van de belasting 103 = Prijs met de belasting inbegrepen
206-TAX(3%) TAX%
=200 [CE/C] [RATE] [TAX] 3.
—TAX
Tax sum = 6 206 [-TAX] 200.
TAX
[-TAX] 6.
6 = Bedrag van de belasting 206 = Waarde zonder belasting
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* Stremforsyningen

CITIZEN CDC-80/CDC-100 regnemaskine er forsynet af to typer
batterier : Solceller og reservebatteriet, hvilken ger det muligt at
bruge regnemaskinen med ethvert baggrundslys.

-Stop stramforsyningen automatisk-

Lommeregneren slukker automatisk for strammen, hvis der ikke har
veeret trykket pa en tast i ca. 10 minutter.

-Skift batteriet-

Fjern skruen og batteri coveret. Indseet et nyt batteri med +
symbolet opad. Sezet coveret tilbage pa plads og seet skruen i.
Efter batteriskift, anvend en spids genstand til at trykke ned i
RESET hullet neer batteriet. Szet coveret tilbage pa plads og seet
skruen i.

* Knappers indeks m

[Cé’“,c] : Teend / Slet indtastning / slet

[M+] : Addition hukommelse knap

[M-] : Subtraktion hukommelse knap

[+ /-] : £Skift fortegn

[MRC] : Hukommelse knap. / Slettelse knap

[RATE] : Tast til indstilling af moms sats

RECALL

[-TAX] : Tast til pris uden moms / Genkald af moms sats ved tryk pa
[RATE] og [-TAX] taster

[+'T‘EATX] : Tast til pris med moms / Lagring af moms sats ved tryk pa
[RATE] og [+TAX] taster

Display symboler :

MEMORY : hukommelse TAX : Moms maengde
—MINUS: Minus (eller negativ) —TAX : Pris eksklusiv moms
ERROR : Overlgbsfejl +TAX : Pris inklusiv moms

TAX% : Moms sats lagret RATE : Moms sats indstilling

Betjening eksempler

1.Almindelig regningsoperation
Far hver beregning, tryk pa [CE/C] tasten to gange.

Eksempel betjening Vis
2x3=6 2 [x] 2 [CE/C] 3[=] 6.
6+4+75=175 6+ 4+ 75 17.5
3-6-4=-7 3[-16[-14[=] 7.
5x3+02=75 5[x]3[+]02[=] 75.
300 x 27% = 81 300 [x] 27 [%] 81.
% x 100% = 20% 11.2 [+] 56 [%] 20.
300 + (300 x 40%) = 420 300 [+] 40 [%] 420.
300 — (300 x 40%) = 180 300 [] 40 [%] 180.
5= 625 5 x] [=] [=] [=] 625.
1/2=05 2+ [=] 05
Yoy 0.0625 2 x]3 [+ 10 [<][=] 0.0625
2.Hukommelse regningsoperation

(25 x5)—(84 = 3) [MRC] [CE/C] 25 [x] 5 [M+]  MEMORY  125.
+(68+17) =38

84[+]3[M-] MEMORY ~ 28.

68 [+] 17 [M+] MEMORY  85.

[MRC] MEMORY ~ 182.
(52-35)+ (14 -3x2)= [MRC] [CE/C] 14 [M+] 3 [x] 2
2125 M-152 135 4]

[MRC] [=] MEMORY 2.125
135x (12 + 14) = 3510 [MRC] [CE/C] 12 [+] 14 [M+]
(12+14)+5=52

135 [x] [MRC] [=] MEMORY 3'510.

[MRC] [+] 5 [=] MEMORY 5.2
3.Regni ystem for kor
2+3=5 2[+3[=] 5.
4+3=7 4[] 7.
3x4=12 3[x14[=] 12.
3x6=18 6[=] 18.

4.Slet delen over regningskapaciteten

1234567890 x 10000 1234567890 ERROR  1234'567'890.
= 1'234.567890 x 10°  [x] 10000 [=] ERROR  1'234.567890
(CDC-100) [CE/C] [CE/C] 0.
5.Afgiftsberegning

100+TAX(3%) TAX%
=103 3 [RATE] [+TAX] 3.

+TAX
Tax sum =3 100 [+TAX] 103.
TAX

[+TAX] 3.
3 = Afgiftssum 103 = Veerdi inklusiv afgift
206-TAX(3%) TAX%
=200 [CE/C] [RATE] [-TAX] 3.

—TAX
Tax sum =6 206 [-TAX] 200.
TAX

[-TAX] 6.

6 = Afgiftssum 206 = Veerdi ekslusiv afgift
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lcEc] : FHVBREASBRITE

M+ : hsEiEIz i

M-]: EHIR Iz

[+/-]: EnSezig

[MRC] : 2|z / /8

[RATE] : fuaz=igE i

[CTAXIE R EOf 52/ 2% [RATE] 0 [TAX] H280i0 iilzs
[TAXI: 28041 51/ 204% [RATE] I [#TAX] 20T f577 ik

BRAS ¢

MEMORY TAX: RIEHIE
-MINUS =TAX : REIRHIMNIE
ERROR +TAX 1 ZIRHIMN1E

TAX% @ fi575 £9ARMEE RATE @ IRIZIEE

- RAE)

1.— i ERF

PUTE—ITERT - 185Ei% 2 R[CE/C)i -

perzil MR TR

2x3=6 2[x] 2 [CE/C] 3[=] 6.

6+4+75=175 6[+14[+175[= 175

3-6-4=-7 3[]6[14[] -7

5x3+02=75 5[x]3 [+ 0.2 7] 75.

300 x 27% = 81 300 [x] 27 [%] 81.

% x 100% = 20% 11.2 [+] 56 [%] 20.

300 + (300 x 40%) = 420 300 [+] 40 [%] 420.

300 — (300 x 40%) = 180 300 [] 40 [%] 180.

5= 625 5 X [=] =] =] 625.

1/2=05 2[+][] 0.5

m =0.0625 2[X13[+] 10 [+ [=] 0.0625

23HZ I B RAF

(25 x5)—(84 = 3) [MRC] [CE/C] 25 [x] 5 [M+]  MEMORY  125.

*(E8+17)=38 84 [+] 3 [M-] MEMORY  28.
68 [+] 17 [M+] MEMORY ~ 85.
[MRC] MEMORY ~ 182.

(52-35)+(14-3x2)  [MRC] [CE/C] 14 [M+] 3 [x] 2

=212 M52 135
[MRC] [=] MEMORY 2.125

135x (12+14)=3510  [MRC] [CE/C] 12 [+] 14 [M+]

(12+14)+5=52 '
135 [x] [MRC] [] MEMORY 3'510.
[MRC] [#] 5 [=] MEMORY 5.2

3EEBHE

2+3=5 2[+]3[] 5.

4+3=7 4[] 7.

3x4=12 3[x14[=] 12.

3x6=18 6[=] 18.

4 BHEHARNIARR

1234567890 x 10000 1234567890 ERROR  1'234'567'890.

=1'234.567890 x 10 [x] 10000 [=] ERROR  1'234.567890
[CE/C] [CE/C] 0.

SIBEUE

100+TAX(3%) TAX%

=103 3 [RATE] [+TAX] 3.

+TAX
Tax sum = 3 100 [+TAX] 103.
TAX

[+TAX] 3.

3 =iRfE 103 ==7R1fE

206-TAX(3%) TAX%

=200 [CE/C] [RATE] [-TAX] 3.

—TAX
Tax sum = 6 206 [-TAX] 200.
TAX

[-TAX] 6.

6 =7R1E 206 = &R 1E
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* ALIMENTACION _

Modeio CITIZEN CDC-80/CDC-100 funciona gracias a un
mecanismo de doble carg (luz solar y bateria de apoyo), lo cual le
permite operar bajo cualquier condicion de iluminacion.

-Funcién de desconexion automatica-

La calculadora se apaga automaticamente si no ha sido utilizada
durante10 minutos aproximadamente.

-Reemplazada de la pila-

Si la pila de apoyo necesita ser reemplazada, quite los tornillos del
parte inferior y sustituya la pila gastada por una nueva. Después del
recambio intoduzca un objeto con punta en el agujero RESET que
estd cerca de la pila y apriete. Coloque la pila en su posicién
correcta, con la polaridad indicada.

« TECLADO INFOMATIVO Espafiol

[CEN/C] : Tecla de encendido / Tecla de borrar entrada / Borrar

[M+] : Tecla de memoria positiva

[M-] : Tecla de memoria negativa

[+/-] : +Tecla de cambio de signo

[MRC] : Tecla de llamada de memoria / Tecla de para limpiar la memoria

[RATE] : Tecla del Ajuste del indice de la Tasa

[iETC,:;L(] : Precio sin la Tecla de Tasa / Para recobrar el indice de la
o tasa cuando presione las teclas de [RATE] y [-TAX]

[+TAx] : Precio con la Tecla de Tasa / Para almacenar el indice de la

tasa cuando presione las teclas de [RATE] y [+TAX]

Simbolos Visualizados :

MEMORY : Meméria TAX : Cantidad de tasa

—MINUS : Menos (o negativo) ~ —TAX : Precio excluyendo la tasa
ERROR : Error de desbordamiento

+TAX : Precio incluyendo la tasa

TAX% : indice de la tasa almacenada

RATE : Ajuste del indice de la tasa _
* EJEMPLO DE FUNCIONES

1.Ejmplos de calculacién

Ejemplo Operacion con la tecla Visualizacén
2x3=6 2 [x] 2 [CE/C] 3[=] 6.
6+4+75=175 6[+]4[+] 7.5 17.5
3-6-4=-7 364 -7.
5x3+02=75 5[x]3[:]0.2[=] 75.
300 x 27% = 81 300 [x] 27 [%) 81.
% X 100% = 20% 11.2 [+] 56 [%] 20.
300 + (300 x 40%) = 420 300 [+] 40 [%] 420.
300 — (300 x 40%) = 180 300 [-] 40 [%] 180.
5'=625 5[x] [=] [=] [2) 625.
1/2=05 2[5 05
(ZT1+10) =0.0625 23+ 104 =] 0.0625
2.Célculo de memoria

(25x5)—(84+3) [MRC] [CE/C] 25 [x] 5 [M+] ~ MEMORY  125.
*(E8rIn=38 84[+]3[M-] MEMORY ~ 28.

68 [+] 17 [M+] MEMORY 85

[MRC] MEMORY 182
(52-35)+(14-3x2) [MRC][CE/C] 14 [M+] 3[] 2
=212 M-]52 35 [+]

[MRC] [=] MEMORY 2.125
135x (12+14)=3510  [MRC] [CE/C] 12 [+] 14 [M+]
(12+14=5=52 135 [x] [MRC] [=] MEMORY 3'510.

[MRC] [:] 5 [7] MEMORY 5.2

3.Constante

2+3=5 2[+] 3] 5.

4+43=7 4[] 7.

3x4=12 3 4[] 12.

3x6=18 6[] 18.

4.Limpiar para desbordamiento y error

1234567890 x 10000 1234567890 ERROR  1'234'567'890.

= 1'234.567890 x 10" [x] 10000 [=] ERROR  1234.567890

(CDC-100) [CE/C] [CE/C] 0.

5.Calculacién de impuestos

100+TAX(3%) TAX%

=103 3 [RATE] [+TAX] 3.

+TAX
Tax sum =3 100 [+TAX] 103.
TAX

[+TAX] 3.

3 = Suma de impuesto 103 = Valor con impuesto

100-TAX(3%) TAX%

=206 [CE/C] [RATE] [-TAX] 3.

-TAX
Tax sum = 6 100 [-TAX] 200.
TAX

[-TAX] 6.

6 = Suma de impuesto

206 = Valor sin impuesto
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